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INSTRUCTIONS TO CANDIDATES

¥ou should have the following for this examination:
Answer bookles;
Neon programmable sciennfic calculator.
Answer FIVE of the EIGHT questions in the answer bookler provided.
Al questions carry egqual marks,
Mencimum marks far each part of a question are indicared.
Candidates should answer the guestions in English,

This paper consists of 4 printed pages.

Candidates should check the guestion paper to ascertain that all
the pages are printed as indicated and that ne questions are missing.
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Explam five factors that may influenee the structure of an organization. (1 marks)
Ol izt '
ut line ﬁ_\-e adrr’:ﬂta 2 H"f |ﬂ£qﬁ]:_pm:_:|1 urlm izations. {5 marks)
"'_-f 1 |'“'| -*"1_‘]-"'-" = —
Dﬁ&ﬂruh& five advantages of Management by Objectives {MBO). {5 marks)
Expluin four methods ased in quality control in production. {8 marks)
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Duﬂlna slxa:h t-‘"lgih of an l:_apen nfﬁce]awul g, = ey o e, qn jftr {6 marks)
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Ouiline sIx charactenstics of a rr{:-::-:l Eh:n £ system. (6 marks)
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Fr.plmu ﬂer:c- methods that may be nsed to appraise employees of an organization.
(s marks)

Table | shows the demand and supply schedule for coffee in a market for the month
of Febroary 2015,

Table 1

Price (Ksh) | Demand (kg) | Supply (kg)
80 10,000 0 000
60 12 (XK} 25,000
40 14 000 20,000
2] 15 (0N | 7,500
) 16000 1300
25 18000 12,500
20 20,000 140,000

(i) draw (he demand and supply curve on the same axis.

(i}  determine the equilibrium price and guantity from the graph. { L0 marks)
Explain the following documents as used in production planning and control:

(i) internal delivery note;

(it} PrOZress note. ; {4 marks)

E::plam four ﬂi:["i.l'ﬂ.tltagﬂ‘m uf mmmg employees from within an organization. _, R b
L i = = Cageb ol o peeat] o= | s f“‘"l[Emarls:s]
J, ot F‘tﬁ[ L Ll pelagirte -
E:{p!ﬂm four-benefits that accrue to an o1 2snization from an efficient purc BEE
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) Distingiush between ersa. s Domestic Product and GI'I:IS‘E. thnni F‘ru:lm;,_r.
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"i {al} H| 1 Six I:u:m.i'h of work stud nan Organization. Y :
: g}hﬁ] :Ef WORK. i I:Ii:i_l AT T (6 marks)
—= By N :ur!.h by i 5-.nrrJ Meeres -
(b} Explain the [ﬂﬂuwmg wnrl-:srudy ards in an orgenization:
i) Micromotion study;
(ii) Memomaotion study; -
(fi)  Flow diagram, _ L {6 marks)
e Ex lain four types of ue;ntwe mzu : :
) B e gt ey, e e e
= =5 -'-=""|-‘ s -'I--'!'L‘l“ et
6 _} {a}  Explain the !i::l]nwin_g elements of cosk:
(i} matenal costs;
(11} dircet cxpenses; —
(i)  Tlabour costs; —
(iv)  indirect costs. - {# marks)

by Table 2 shows symbols of operation as used in work study. Fill in the blank spaces

with the appropriale information. {6 marks)
Table 2
!5}':':1]!:1! M, S mbol Descripfion | Purpose |[
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{c) Owuthine six factors ﬂ:nal: determime the price of aLPm-:]L}pt., A (6 marks)
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A manufacture supplies his Lm-.mmers with 1200 umts of a product per year,
Inventory carrying cost amounts to Ksh 1.50 per unit per year. The cost set up per
rur is Ksh 20,00, Find:

{i} goonomic order quantity;
{iiy  average number of ordérs per year;
(it} optimum number of orders per yvesr:

.

(iv]  optimum period of supply per optimum order: (% marks}
]:xpli?nj f‘hr‘[_!cg:ﬁnﬁ i|:|l production, (6 marks)
Explain four circumstances under which delegation may be appropriate in an

organization. (& rourks)

Figure | shows a break-even chart. Label the areas represented by the Roman
numbers, {7 marks)

Cosl & Revenup —pm

Ruantity —e=

Fig_ 1

Ontline five featiires of a bureancratic organization. (5 marks)
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